| Efficiency vs Dxy |
0.1

0.09
0.08
0.07
0.06
0.05
0.04
0.03

0.02

0.01{|}-

L

-

0955 20-15-10 -5 0 5 10 15 20 25

—=— DQM_TT__mkFit-DQM_i2

| Efficiency vs Dz |

—— DQM_TT__mkFit-DQM_adjustedi2

0.2

OB b
P T SNSRI SN S WSS N S
0,14
0.12:— """" """
RTCIN | TS IS RN N
0.08F -+ """
0.06:— """"""""""""""""""""" Tt
0.04H}- ||  SURTOUUE SURRRE POt “"

- L [ 4 . A
0.02H ++ ........... o £ [

r +++‘+ N .q++ [ ] L
J..Lo 1 1 1 1 ! 1 1 1 + 1 1 1 1 + 1 1 Fq + I|‘ 1 1 ! 1 1 1

1500 E -89 -9

0

0.95

-30

=20

~10 10 20

30



	Contents
	Page 1


